20234%£7H23H(H) 7HA A#I# X&%:HBh

AYSR AY5R
N 52 K4 [E] % | AR | HDCP | &k NE s K4 [i] 3} | /BX|HDCP | Rvk
&% ML BB 43 40 83 12 A =B INR BRIE 36 36 72 3 69
gE2hs I HE 46 40 86 12 74 FE24 BHEA 35 37 72 1 71
- -%clivs B Ko 42 40 82 8 74 3L 3] ;3 38 36 74 0 74
Fa4r FrK B— 42 45 87 12 75 gaf Z2ES H 43 42 85 11 74
5 RE &R R— 41 46 87 11 76 541 M= SFiE 43 43 86 12 74
XEIOBEOARKENT—D a1 — I EERSINELS:
BYSR (FAa—R BHa1—RER/) V=T ISURVZT ISR
NG 32 K& BI¥ | #&¥ | /BX | HDCP | Rvbk MR sz K4 £ B | /'AX | HDCP | Rk
=i i R 50 42 92 26 66 = mR 55 38 39 77 11 66
g2 TR SF 43 44 87 18 69 H2f S AE 39 47 86 19 67
- -Xclivs 2% NF 43 42 85 16 69 3L BH FE 41 40 81 11 70
Haf HHEFBE 49 51 100 27 73 FAfI ik HE 42 45 87 15 72
5L Al EF 45 48 93 20 73 S50 XS H= 51 46 97 24 73

FWEENY KU=-TF5T




